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CONTENTS 











(), (b) (h) 
= 2 (b + bh + h) 

 = × h 
 = × 

=  × b × h
= 22 hb 2

= 4 ( + b + h)

 
Ex.1 

6 : 4 : 5 
2368 cm2

Sol.  () = 6x cm,  (b) = 4x cm
(h) = 5x cm, 


= 2( × b + b × h × h × ) 
= 2(6x × 4x + 4x × 5x + 5x × 6x)cm2  
= 2(24x2 + 20x2 + 30x2) cm2

= 148x2 cm2
: = 2368 cm2  

 148x2 = 2368 
 x2 = 148

2368  = 16 
x = 416 

 = 6x cm = 6 × 4 cm = 24 cm, 
 = 4x cm = 4 × 4 cm = 16 cm 
 = 5x cm = 5 × 4 cm = 20 cm 

Ex.2 1.5 m , 1.25 m 
65 cm 

(i) 

(ii) 1 m2  20 

Sol.  () = 1.5 m,  (b) = 1.25 m
(h) = 65 cm = 0.65 m. 

(i) 


=  + 
= 2( + b) × h +  × b  
= 2(1.5m + 1.25m) × 0.65m + 1.5m × 1.25 m 
= 2 × 2.75 m × 0.65 m + 1.875 m2
= 3.575 m2 + 1.875 m2 = 5.45 m2      

(ii) 1 m2  20 


= 5.45 ×   20 



=   109 
Ex.3 

5m, 4m 3m 
7.50 

Sol.  = 5m, b = 4m h = 3m 

= = 2( + b) × h 
=  × b


= + 
= 2( + b) × h +  × b.  
= 2(5m + 4m) × 3m + 5m × 4m 
= 2 × 9m × 3m + 20m2  
= 54m2 + 20m2 = 74m2    
, 

=   7.50 2

= 74 ×  7.50 =   555 

Ex.4 250 m 
10 

 15,000, 
? 

Sol.  
= 2( + ) = 2 ( + b) 

250 m 
 2( + b) = 250 m 

= 
= 2( + b) × h = 250 m × hm = 250 hm2 

10 


250 hm2 = 250 h ×  10 

250 h ×   10 =   15,000 

 h = m10250
000,15
  = 6 m 

 = 6 m 
Ex.5 

9.375 m2
22.5 cm × 10 cm × 7.5 cm 

[NCERT] 
Sol.  ,  = 22.5 cm, b = 10 cm

h = 7.5 cm. 


 = 2 ( × b + b × h + h × ) 
 = 2 (22.5 × 10 + 10 × 7.5 + 7.5 × 22.5)cm2 
 = 2 (225 × 75 + 168.75) cm2 = 937.5 cm2

= 9.375 m2 = 9.375 × 100 × 100 cm2  
[1 m = 100 cm  1 m2 = 100 × 100 cm2] 
= 93750 cm2


= 

= 100cm5.937
cm93750 2 

Ex.6 
( ) 
30 cm , 25 cm 25 cm 
-  [NCERT] 

(i) ? 
(ii) 12 

? 
Sol.  

 = 30 cm, b = 25 cm h = 25 cm
(i) 

= 
= 2( × b + b × h + h × ) 
= 2(30 × 25 + 25 × 25 + 25 × 30) cm2 
= 2(750 + 625 + 750)cm2 = 4250 cm2

(ii) 



= 12 
= 4( + b + h) = 4(30 + 25 + 25)cm = 320 cm 

Ex.7 
25 cm × 20 cm × 5 cm 
15 cm × 12 cm × 5 cm 

5% 
4 1000 cm2 

250 
[NCERT] 

Sol.  : 
 = 25 cm, b = 20 cm h = 5 cm


= 2( × b + b × h + h × )  
= 2(25  × 20 + 20 × 5 + 5 × 25)cm2  
= 2(500 + 100 + 125)cm2 = 1450 cm2  

 : 
 = 15 cm, b = 12 cm  h = 5 cm


= 2( × b + b × h + h × )  
= 2(15 × 12 + 12 × 5 + 5 × 15)cm2
= 2(180 + 60 + 75) cm2 = 630 cm2  

250 

= 250 × 1450 cm2 + 250 × 630 cm2  
= 362500 cm2 + 157500 cm2  
= 520000 cm2

= 5% of 520000 cm2

= 252000100
5 cm  = 26000 cm2  


= 520000 cm2 + 26000 cm2 = 546000 cm2 

, 1000 cm2 =  4 
  1 cm2 =  1000

4

  546000 cm2

=   1000
4 × 546000 =   2184 

Ex.8 3240 cm3
(i) = 8 cm 

= 15cm 
(ii) = 24 cm 

= 10cm 
(iii) = 9 cm 

= 20 cm 
Sol.  = × ×  

  (i) = 
(ii)  = 
(iii) = 

(i) = 
= cm15cm18

cm3240 3
  = 12 cm 

(ii)  =  = cm10cm24
cm3240 3


     = 13.5 cm 
(iii)  =  = cm20cm9

cm3240 3


 = 18 cm 
Ex.9 6 cm × 4 cm × 2.5cm 

24 
? 

Sol.  
 1 

= × ×  
= 6 × 4 × 2.5 cm2 = 60 cm3  

 24 
= 24 
= 24 × 60 cm3 = 1440 cm3  

Ex.10 6 m , 
5 m 4.5 m 

? (1 m2 = 1000 )  



Sol.  
= = × × 
= 6 m × 5 m × 4.5 m = 135 m3
= 135 × 1000 = 135000    

Ex.11 10 m , 7.5 m 80 cm 
 16 ? 

Sol.  
= 10 m, = 7.5 m 

= 80 cm = 0.8 m   
 

= × × ( ) 
= 10 m × 7.5 m × 0.8 m = 60 m3  

=   16 
  60 ×   16 =   960 

Ex.12 
1.5 m × 1.25 m × 0.5 m 

:    
(i) 45 m × 25 m × 10m. 
(ii) 40 m × 25 m × 10m  

Sol. (i) 45 m 
1.5 m 

 

= 30m5.1
m45 

=  20m25.1
m25 

=  20m5.0
m10 

 
= 30 × 20 × 20 = 12000 

(ii) 
= 3

226m5.1
m40   = 26

[ ] 

=  20m25.1
m25 

=  20m5.0
m10 

 
= 26 × 20 × 20 
= 10400     

Ex.13 
50000 

2.5 m 10 m 

Sol.  
50000 

  = 50000 
= 3m1000

50000 [  1 m3 = 1000 ] 
= 50 m3  

  × × = 50 m3  
  2.5 m × × 10 m = 50 m3

  = m2m105.2
50 

 

 
 

‘a’ 
= 6 a2

 = a3
= 4 a2

 = 3a
= 12 a 

 



Ex.14 8 cm 

Sol.  (a) = 8 cm 
  = 6a2 = 6 × 82 sq. cm 

 = 6 × 64 cm2  = 384 cm2  
= 4a2 = 4 × 82 sq. cm 

= 4 × 64 cm2  = 256 cm2
Ex.15 10 cm 

12.5 cm, 10 cm 8 cm 
 [NCERT] 

(i) 
? 

(ii) 
? 

Sol.(i) : 
 = 10 cm a = 10 cm 

 
= 4a2 = 4 × 102 cm2 = 400 cm2

:  
    = 12.5 cm, b = 10 cm & h = 8 cm 

 
= 2( + b) × h  
= 2(12.5 + 10) × 8 cm2  
= 2 × 22.5 × 8 cm2 = 360 cm2  

400 cm2 – 360 cm2  = 40 cm2
(ii) 

= 6 a2  = 6 × 102 sq. cm = 600 cm2

= 2( × b + b × h + h × )  
= 2(12.5 × 10 +10 × 8 + 8 × 12.5) cm2  
= 2(125 + 80 + 100) cm2 = 610 cm2  

610 cm2 – 600 cm2 = 10 cm2

Ex.16 12 cm 
8 

: 
(i) 
(ii) 
(iii) 

Sol.  , = 12 cm. 
 = ( )3  

= (12 cm)3 = 1728 cm3 
(i) 8 

  8 
= = 1728 cm3  

 
= 8

cm1728 3  = 216 cm3

(ii)  = x cm 
  ( )3 =  

   x3 = 216 = 6 × 6 × 6 = 63 x = 6 cm 
 = 6 cm 

(iii) 
= 6 × ( )2  
= 6 × (6 cm)2 = 216 cm2

Ex.17 3 m 40 m , 
2 /

? 
 [NCERT] 

Sol.  

= × 
x km/hr = x × s/m18

5 .

: 1 km/hr = s/m18
5

sec6060
m1000 

= × 
= 3m × 40m = 120 m2 



= 2 km/hr = 2 × s/m9
5s/m18

5 
 1 
=  × 
=  120 × 33 m3

200m9
5 

  1 (60 ) 
= 3603

200 m
 =  4000 m3
 

=  4000 m3
Ex.18 

Sol.  
: = 

 [ ] 
   a3 = 6a2   
   a = 6  

 = 6 cm 
Ex.19 

12 cm 768 cm3
: 

(i) 
(ii) 

Sol.(i) x cm 
,  = b = x cm

  × b × h = 
  x × x × 12 = 768 [ = 12 cm] 
  x2 = 6412

768   x = 64 cm = 8 cm. 
  = 8 cm     
(ii) ,  = 8 cm, b = 8 cm h = 12 cm 

 = 2( × b + b × h + h × ) 
 = 2(8 × 8 + 8 × 12 + 12 × 8) cm2 = 512 cm2 





 = r = h 
= 2rh 
 = 2r(h + r) 

 = r2h ,  = 7
22  3.14 

 
Ex.20 2 m 

10.5 m 
(i) 

(ii) 35 

Sol.  : = m22
1   = 1m , r = 1 m

= 10.5 m   h = 10.5 m 
(i) 

= 2rh = 2 × 5.1017
22  m2 = 66 m2

(ii) 
= × 
= 66 ×   35  =   2,310 

Ex.21 
28 m 

5 cm 
[NCERT] 

Sol.  : = 28 m 
, h = 2800 cm 

= 2
1 × = 2

1 × 5 cm = 2.5 cm. 
 

= 
= 2rh = 2 × 7

22  × 2.5 × 2800 cm2 = 44000 cm2 



= 
= 2r (r + h) = 2 × 5.27

22   (2.5 + 2800) cm2 

= 44039.29 cm2 
Ex.22 : 

(i) 
4.2 m 4.5 m 

(ii) 
12
1

? [NCERT] 
Sol.(i) : r = m2

2.4  = 2.1 m h = 4.5 m
 

= 2rh = 2 × 1.27
22  × 4.5 m2 = 59.4 m2

(ii) x m2

= 2r (h + r) = 2 × 7
22  × 2.1 (4.5 + 2.1)

 = 87.12
  x – x12

1 = 87.12  x12
11 = 87.12 

 x = 87.12 × 11
12  = 95.04 m2 

  = 95.04 m2  
Ex.23 

20 cm 30 cm 
2.5 cm 

? [NCERT] 

Sol.  : = 30 cm. 

 2.5 cm 
= (30 + 2.5 + 2.5) cm = 35 cm 

 
35cm cm2

20 =10 cm.
h = 35 cm r = 10 cm 



= 2rh  = 2 × 7
22  × 10 × 35 cm2  

= 2200 cm2 . 
Ex.24 

5 : 3 
- 

Sol.  = r2
h

d
h 

: 

3
5

rh2
)rh(r2 

   3
5

h
rh  

  5h = 3h + 3r 
, 2h = 3r   2

3
r
h  

4
3

22
3

2r
h   = 3 : 4 

Ex.25 
: [NCERT] 

(i) 
5 cm 4 cm 

15 cm 
(ii) 

7 cm 10 cm ? 
Sol.(i) 

= 
= × ×  
= 5 cm × 4 cm × 15 cm = 300 cm3

(ii) 
= r2h = cm102

7
2
7

7
22 



[r = cm2
7

2  ]
= 385 cm3  

:, 
385 cm3 – 300 cm3 = 85 cm3 

Ex.26 132 cm 
25 cm 

? (1000 cm3 = 1) 
Sol.   r cm 

  2r = 132  [  = 2r] 
 2× 132r7

22  
  r = cm21cm222

7132 

(r) = 21 cm  (h) = 25 cm 

  = r2h 
= 7

22  21 × 21× 25 cm2

= 34560 cm3
 

=  = 34560 cm3

= 1000
34560 [1000 cm3 = 1] 

 = 34.650  
Ex.27 

( ) 7 cm 
4 cm 

250 
?  [NCERT] 

Sol.  = cm2
7 , r = cm2

7

h = 4 cm 
 1 

= r2h = 3cm42
7

2
7

7
22   = 154 cm3. 

 250 
= 250 × 154 cm3 = 38500 cm3

Ex.28 94.2 cm2
5 cm, : 

(i) 
(ii) ( = 3.14 ) 

Sol.  2rh = 94.2 cm2 h = 5 cm 
 (i)  2rh = 94.2 cm2 
   2 × 3.14 × r × 5 = 94.2 

  r = cm514.32
2.94
  = 3 cm . 

(ii) 
= r2h  
= 3.14 × 3 × 3 × 5 cm2 = 141.3 cm3




= R, = r, 

 = h. 
= 2Rh 
= 2rh 
= R2 – r2

 = 2Rh + 2rh + 2(R2 – r2)
= (R2 – r2)h 

 
Ex.29 ( ) 35 cm 

8 cm 
8.8 cm : 

(i) 
(ii) 
(iii) -
(iv) 

h 

R 

r
Sol.  h = 35 cm 

r = cm2
8  = 4 cm



R = cm2
8.8 = 4.4 cm

(i) = 2Rh 
= 2 × 2cm354.47

22   = 968 cm2

(ii) = 2rh 
= 2 × 2cm3547

22 
= 880 cm2  

(iii) -
R = 4.4 cm 

r = 4 cm 

r
R 

 = R2 – r2

=(R2 – r2) = 222 cm)4–4.4(7
22

= 2cm)44.4()44.4(7
22 

= 2cm4.04.87
22 

 = 10.56 cm2
Ex.30 

50 cm 12 cm 9 cm 
r

R

h 

  
Sol.  : (h) = 50 cm, 

(R) = 6 cm (r) = 4.5 cm  


= +

  + 2 × 
= 2Rh + 2rh  + 2 (R2 – r2) 
= 2(R + r)h + 2(R + r) (R – r) 
= 2 × 7

22  × (6 + 4.5) ×  50 

+ 2 × 7
22  ×  (6 + 4.5) (6 – 4.5) cm2

= 5.107
44  × 50 + 2cm5.15.107

44 
= 3300 cm2 + 99 cm2 = 3399 cm2

Ex.31 
24 cm 28 cm 

35 cm 
1 cm3

0.6 g 
Sol.  = 24 cm  
   (r) = cm2

24  = 12 cm
 = 28 cm 

   (R) = cm2
28  = 14 cm

(h) = 35 cm 
  = (R2 – r2)h 

=  7
22 (142 –122) × 35 cm3 = 5720 cm3

1 cm3 = 0.6 gm 
  5720 cm3 = 0.6 × 5720 gm 

 = 
= 3432 gm = 3.432 kg 

Ex.32 
7 mm 1 mm 

14 cm 
Sol.  

: 
(R) = mm2

7 = 3.5 mm = 0.35 cm

(r) = mm2
1 = 0.5 mm = 0.05 cm

 ( ) = 14 cm. 



7mm 

1mm 

7m
m

  = (R2 – r2)h 
= 7

22 × [(0.35)2 – (0.05)2] × 14 cm3

= 7
22 × 0.12 × 14 cm3 = 5.28 cm3

 = r2h 
= 7

22 × (0.05)2 × 14 cm3 = 0.11 cm3 
Ex.33 8 cm 

2 cm 
42 cm 

Sol.  = 8 cm  r = 8 cm, 
= 2 cm. 

  = 8 cm + 2 cm = 10 cm 
,  R = 10 cm. 

( ) = 42 cm 
, h = 42 cm. 

 
=  (R2 –r2)h  = 7

22 [(10)2 – (8)2] × 42 cm3

= 7
22 × 36 × 42 cm3 = 4752 cm3

Ex.34 -
3 : 4 6 : 5 

( ) 
Sol.  r1 r2, 

r1 = 3x r2 = 4x ; 
 h1  h2 , h1 = 6y 

h2 = 5y 

= 
22
11

hr2
hr2


 = 10

9
y5x42
y6x32 

  = 9 : 10 




, h r

2 = h2 + r2
= r2

( ) = r 
= r ( + r) 

= hr3
1 2 .


 

Ex.35 48 cm 
36 cm 

( = 3.14 )    
Sol.  : h = 48 cm r = 36 cm. 
   2 = h2 + r2 
   2 = 482 + 362 = 2304 + 1296 = 3600 

  = cm3600 = 60 cm 
  = r 

= 3.14 × 36 × 60 cm2 = 6782.4 cm2

= r+ r2 = r ( + r)  
= 3.14 × 36 × (60 + 36)cm2  
= 10851.84 cm2         

Ex.36 2200 cm2
50 cm 

: 
(i) 
(ii) 
(iii) 

Sol. (i) : r = 2200 cm2  = 50 cm
  50r7

22  = 2200

i.e., r = cm5022
72200


 = 14 cm 

(ii) = r ( + r) 



= 14cm7
22   × (50 + 14) cm2

  = 2816 cm2  
(iii) 2  = h2 + r2    h2 = 2 – r2  

 = 502 – 142 = 2500 – 196 = 2304 
 h = 2304 cm = 48 cm      

Ex.37 ( ) 10 m 
24 m 

[NCERT] 
(i)  ( ) 
(ii) ( ) 

1 m2 
70 

Sol. (i)  : h = 10 m r = 24 m 
   2 = h2 + r2 
    2 = 102 + 242  = 100 + 576 = 676 

  = 676 m  = 26 m 
(ii) 

= ( ) 
= r= m26247

22  = 2m7
13728

  1 m2 70 


= 70.Rs7
13728  =   1,37,280

Ex.38 8 m 
6m 3 m 

? 
( ) 

20 cm 
( = 3.14 ) [NCERT] 

Sol.  : h = 8 m r = 6 m 
2  = h2 + r2    2 = 82 + 62  

= 64 + 36 = 100 = m100 = 10m 
= r 

= 3.14 × 6 × 10 m2  = 188.4 m2
  = 188.4 m2  
  × = 188.4 m2  

  × 3 m = 188.4 m2  
 = m8.62m3

4.188 


= 20 cm = 0.2 m 
 

= 62.8 m + 0.2 m  = 63 m 
Ex.39 50 

(recycled) 
1 

m 12 per m2

?   (= 3.14 04.1  = 1.02 ) 
[NCERT] 

Sol.  
r = 2

40 cm = 20 cm = 0.2 m h = 1 m 
 2 = h2 + r2 2 = (1)2 + (0.2)2  

  = 1 + 0.04 = 1.04 
   = 04.1 m = 1.02 m 

= r 
 = 3.14 × 0.2 × 1.02 m2 = 0.64056 m2  
 50 

= 50 × 0.64056 m2  
= 30.028 m2 = 

  12   
 50 

= 30.028 ×   12 =   384.34 
Ex.40 

3 : 5 2310 cm2 

Sol.   : r : = 3 : 5 
    r = 3x cm,  = 5x cm 

= r  x37
22  × 5x = 2310

  x2 = 495322
72310 

  x = 7



  r = 3x = 3 × 7 cm = 21 cm 
 = 5x = 5 × 7 cm = 35 cm,

2 = h2 + r2 h2 = 352 –212 = 1225 – 441 = 784 
    (h) = cm784  = 28 cm 
Ex.41 

8 m 28 m 
13 m 
(i) 
(ii) 3.50 

Sol.  
: 

(i)  : 
r = 28  h = 8 m 

  = 2rh 
= 2 × 7

22 × 28 × 8 m2 = 1408 m2  

8m 
13m 

28m 
 : 

 r = 28 m  h = 13 m – 8 m = 5 m 
 2 = h2 + r2 2 = 52 + 282 = 809 
  = 809 m = 28.4 m 
  = r 

= 7
22  28 × 28.4 m2  = 2499.2 m2  


=  + 

 1408 m2 + 2499.2 m2 = 3907.2 m2
(ii) 

= 3907.2 ×   3.50 =   13675.20    

Ex.42 30 cm 
3140 cm3  = 3.14

(i) (ii)
Sol. (i)  : h = 30 cm  = 3140 cm3  

= hr3
1 2 

   3140 = 14.33
1   × r2 × 30

 r2 = 1003014.3
33140 

  r = 10cm 
(ii) = r2  

= 3.14 × 102 cm2 = 314 cm2
 : 
3

1  ×  = 

   3
1  × 30 = 3140 

  = 2cm30
33140

= 314 cm2
Ex.43 ABC 5 cm, 12 cm 

 13 cm [NCERT] 
(i) ABC 12 cm 

(ii) ABC 5 cm 

(iii)  (i)  (ii) 

Sol. 52 + 122 = 132 13 cm 

(i)  12 cm 
: 

h = 12 cm  r = 5. 

13m 

12m

5cm 



 = hr3
1 2

= 3
1  × 7

22  × 5 × 5 × 12 cm3  
= 314.29 cm3  

(ii)  5 cm 
: 

h = 5 cm,  r = 12 cm. 
 = hr3

1 2
= 127

22
3
1  × 12 × 5 cm3  

= 754.29 cm3
(iii) 

= 754.29 cm3 – 314.29 cm3  
= 440 cm3    

Ex.44 9856 cm3 
28 cm 

(i) 
(ii) 
(iii) 

Sol.   :  = 9856 cm3  
(r) = 2

28 cm = 14cm 

(i) = 3
1 r2h  9856 

= 2
22

3
1  × 14 × 14 × h 

    h = cm141422
739856


  = 48 cm 

(ii) 2  = h2 + r2   2 = 482 + 142  
= 2304 + 196 = 2500 

 = 2500 cm = 50 cm 
  = 50 cm 

(iii)  = r 
= 147

22  × 50 cm2 = 2200 cm2

Ex.45 (heap)
10.5 m 3 m 

Sol.   : 
(r) = m2

5.10 = 5.25 m
 (h) = 3m 

  = hr3
1 2

= 25.57
22

3
1  × 3 m3 = 86.625 m3 

, 2 = h2 + r2  2 = (3)2 + (5.25)2  
   = 9 + 27.5625 = 36.5625 

  = 5625.36 m = 6.047 m 
 

= 
= r= 2m047.625.57

22 
= 99.7755 m2  

Ex.46 

Sol.  

  ( ) 
r 

h1  h2 
 = r2h1  

= 3
1 r2h2

 : 
 = 2 × 

 r2h1 = 2 × 3
1 r2h2



  h1 = 2h3
2

 3
2

h
h

2
1    
h1 : h2 = 2 : 3 




 = r 

 = 4r2 
 = 2r2

 = 3r2

 = 3r3
4 
 = 3r3

2  . 


   
Ex.47 

20 cm  ( = 3.14 ) 
Sol.  

= 3r2  
= 3 × 3.14 × (20)2 cm2  [  : r = 20 cm] 
= 3768 cm2    

Ex.48 154 cm2

Sol.  : r2 = 154  154r7
22 2 

  r2 = 154 × 4922
7   r = 7 cm 

  = 3r2 
= 3 × 22 cm462cm777

22 
 : 

 = 3r2  
= 3 × 154 cm2      [  : r2 = 154] 
= 462 cm2    

Ex.49 10 cm  15 cm 

Sol.  
= 

= 2
2

r4
r4

 = 9

4
15154
10104 



= 4 : 9 
Ex.50 

10.5 cm 
16  100 cm2

[NCERT] 
Sol.   = 10.5 cm  
   (r) = cm2

5.10 = 5.25 cm
= 

 = 2r2

= 2 × 7
22  5.25 × 5.25 cm2

= 173.25 cm2
 100 cm2 =  16 
 1 cm2 = 100

16

 173.25 cm2

=  25.173100
16 

=   27.72 
Ex.51 r 

[NCERT] 
(i) 
(ii) 
(iii)  (i)  (ii) 

Sol. (i)  = 4r2



(ii)  = 
 h = 2r 


= 2rh = 2r × 2r = 4r2  
(iii) = 2

2
r4
r4

 = 1 = 1 : 1   

Ex.52 
: 

(i) 
 

r (ii) h  

(iii) r h 



 (iv) r

Sol. (i) 
=  + 

= 2r2 + r= r (2r + )   
(ii) 

= 2 ×  + 

= 2 × 2r2 + 2rh = 2r (2r + h)    . 
(iii) 

=  + 
 + 

= 2r2 + 2rh + r= r (2r + 2h + ) 
(iv)  

= 2 = h2 + r2      = 22 rh 

= 2r2 + r = r (2r + ) 
= r   22 rhr2

Ex.53  25% 

Sol.   r 
  = 4r2

 = r + 25% of r 
= r + 4

r5r100
25 


= 4 4

r25
4
r5 22 


 

= 22 r4–4
r25  = 4

r9
4

r16r25 222 

= × 100% 

16
9%100r4

4
r9

2

2




 × 100% 
= 56.25% 

 : 
 = 100 

 = (100)2 = 10000 
 = 100 + 25% of 100 = 125 

   = (125)2 = 15625 
 = 15625– 10000

      = 5625 

= × 100% 

= %1001000
5625 

 = 56.25%



25% 
25% 

20% 
20% 

Ex.54 8.4 cm 
6.8 gm  cm3

Sol.   = 8.4 cm 
(r) = cm2

4.8  = 4.2 cm

=  = 3r3
4 

= 7
22

3
4  × 4.2 × 4.2 × 4.2 cm3  

= 310.464 cm3
 =  × 


= 310.464 × 6.8 gm = 2111.1552 gm 
= 2.111 kg ( )       

Ex.55 
? 

[NCERT] 
Sol.   :  4

1  

 = 4
1

 Rm  4
1

 Re 

, 
3e

3m

R3
4

R3
4




= 64
1

R
R4

1

R
R

3e

3
e

3e

3m 






 = 64
1

Ex.56 
r S 

S [NCERT] 
(i)  r 
(ii) S  S

Sol. (i) 
 = 24 × 

  33 r3
427)'r(3

4 
   (r)3 = 27r3 = (3r)3  
    r = 3r      

(ii)  S = 
, S = 

 = 4(r)2 = 4(3r)2 = 36r2  
S  S = 'S

S

= 9
1

r36
r4

2
2 


= 1 : 9 

Ex.57 1 cm 
1 m 

  [NCERT] 
Sol.   (r) = 1 m = 100 cm 

 = 1cm 
  (R) = 100 cm + 1 cm = 101 cm 


=  – 
= 33 r3

2–R3
2  = 3

2 (R3 – r3)

= 3
2  × 7

22  × (1013 – 1003) cm3  
= 63487.81 cm3

Ex.58 
498.96 

2.00 

[NCERT] 
(i) 
(ii) 



Sol. (i) - = 
× 
  498.96 =   2 × 


= 2m2
96.498  = 249.48 m2 

(ii)  = r m 
 2r2 = 249.48 
 2 × 2r7

22  = 249.48

 r2 = 2m222
748.249


  = 39.69 

 r = 6.3 m. 


= 3r3
2  = 7

22
3
2  × 6.3 × 6.3 × 6.3 m3

= 523.908 m3 . 
Ex.59 3 : 2 

Sol.   :  = 3 : 2 
  = 3r, 

 = 2r 
 = 

8
27

)r2(3
4

)r3(3
4

3

3



  = 27 : 8 

Ex.60 1 cm, 6 cm 
8 cm 

Sol.  = R cm. 
  3333 )8(3

4)6(3
4)1(3

4R3
4  . 

R3 = 1 + 216 + 512 
R = (729)1/3 
R = 9 cm.   

Ex.61 
18 cm 

8 cm 
12 cm 

BO 
A 

9 cm 
6cm 

8 cm

Sol.  
= h = 8cm 

= R = 6cm  
 = R2h 



  8667
22  cm3 ....(i) 

= 18 cm 
 = r1 = 2

18  = 9 cm 
 r2 cm 

= 
 3

4 (r13 – r23) = 7
22  × 6 × 6× 8 
[  (i) ] 

 3
4  × 7

22  (93 – r23) = 7
22  × 36 × 8

 3
4 (93 – r23) = 36 × 8  92 – r23 = 4

8108
 r23 = 93 – 108 × 2 = 729 – 216 r23 = 513  
r2 = ( ) = 3 513 ~ 8cm 
  = 8 cm × 2 ~ 16 cm 

Ex.62 
3 cm  5 cm 

10 3
2 cm

Sol.  
3 cm  5 cm 



 = 


  )3–5(3
4 33  cm3

= 


  )27–125(3
4 cm3 = 


  983

4 cm3

3cm 5cm 
r

3
32 cm

r 
3

32 cm 

 = r2h = 


  3
32r2 cm3

= 

 3
4  × 98 =  × r2 × 3

32  392 = 32r2 

r2 = 32
392  = 4

49  r = 2
7

2
49   = 3.5 cm

= 2r = 2 × 3.5 cm = 7 cm 
Ex.63 3 cm 

1 cm 
1.5 cm 

Sol.   = 3cm 
 = 1.5 cm =  2

3 cm 

 = 



 


 3

2
3

3
4 cm3 

= 


  2
3

2
3

2
3

3
4 cm3

= 24
108 cm3 = 2

9 cm2

1 cm  1.5 cm 

= 








 





 33

4
3

2
1

3
4 cm3 

= 


 


  64
27

8
1

3
4 cm3

= 


  64
35

3
4 cm3 = 192

140 cm3

r 
– 

 3
4 r3  = 2

9  – 192
140

 3
4 r3 = 2

9 – 192
140 = 192

140–864  = 192
724

 r3 = 1924
3724


  = 64

181    r = 3 64
181 cm

 = 2r 
= 2 × 3

3
64

181  = 2 × 4
1813  = 2

1813 cm 
Ex.64 

12cm  15cm 
10 

-

Sol.  = r = 2
12  = 6cm

(h) = 15cm 
 = r2h         

 = ( × 62 × 15) cm3  
 = ( × 36 × 15) cm3 = 540 cm3

6cm 

15c
m 4r

r

= = r 



 Edubull

= 4r 
 = 

 + 
= 


  r4r3

1r3
2 23 cm3 

= 


  33 r3
4r3

2 cm3 = (2r3) cm3 
10 

= (10 × 2r3)cm3 = (20r3) cm3
10 = 

 20r3 = 540  20r3 = 540 
 r3 = 20

540  = 27  r = 3 27  = 3 cm 

= 2r = 2 × 3 = 6cm 
Ex.65 2cm 

0.7m/sec 
40cm 

Sol.  1 
= 

1 cm (r = 2
2  = 1 cm) 

70 cm (h = 0.7m = 70 cm) 
= r2h = 


  7017

22 2  cm3 = 220 cm3

1800 




  18002
3600

2
1

40cm 

.. .... .. 

= (220 × 1800) cm3 =396000 cm3

1800 

= (
) 

= 22
3

cm40
cm396000

  (
 = 40 cm) 

= 













 2

3

cm7
160022

cm396000  = 






160022

7396000 cm 

= 78.75 cm ~  79 cm 
79 cm 

Ex.66 15cm 

 5 cm  6 cm 

Sol.   = R = 15 cm. 
15cm 

6cm

cm2
5r 

 = 3
2  × R3

= 


  3)15(3
2 cm3 = 


  1515153

2 cm3 
= 10 × 15 × 15 cm3 = 2250 cm3

 = 2250 cm3 

5 cm  6 cm 
= 2

5 cm 
= 6cm 

 = r2h 



= 


  62
5

2
5 cm3 = 


 

2
75 cm3 

=

= 
3
3

cm2
75

cm2250
 = 75

22250  = 60 

Ex.67 4
31 m

7 /

Sol.  = 4
31  = 4

7 m 

= 



 


 3

4
7

3
4 m3 = 


  4

7
4
7

4
7

7
22

3
4 m3

.... ....

 7 /
 1 

= 7  
= (7 × 1000)cm3 = 7000 cm3 

=  



 100100100

7000 m3

= 


  4
7

4
7

4
7

7
22

3
4  ÷ 




 100100100
7000

= 


 
1000

7
48

4922

=  748
10004922


 = 12

19250

= 



6012

19250 =  72
1925 = 26.73

26.73 
Ex.68 9cm 

3 cm 4 cm 

Sol.  
=  3

2 R3 = 3
2  × 7

22  × (9)3

(R = = 9 cm) 
= 


  9997

22
3
2 cm3

= 


  9997
22

3
2 cm3

=  r2 h = 7
22 ×

2

2
3 


 × 4

(r = = 2
3 cm

 (h) = 4 cm) 
= 7

22  × 4
9  × 4 =  7

198 cm3.

= 

=  3
2 × 7

22  × 9 × 9 × 9 ÷ 7
198

=  3
2 × 7

22  × 9 × 9 × 9 × 198
7 = 54

 54 
Ex.69  30 dm  12 dm 

10 km 
30 

 8 cm 
Sol.  

30 dm = 10
30 m, 12dm = 10

12 m



10 km = 10 × 1000 m 
1 

= 10
30  × 10

12  × 10 × 1000 = 36000 m3. 
30 

= 


 hour2
1  = 2

36000  = 18000 m3. 

2
1

= = m8
m18000 3

= 


 
8

10018000 m2 = 225000 m2 

225000 m2
Ex.70 5 mm 

10 
40 cm 24 cm 

Sol.  = 5mm 
 = 2

5 mm =  210
5
 cm 

 10m = (10 × 100) cm 
1 

= 



 




 10010210
5

7
22 2

cm3 

= 


 
 10002020

55
7
22 cm3 = 7

1375 cm3

20 cm 


  cm202
40 24 cm 

= 


  24)20(7
22

3
1 2 cm3 

= 


  2420207
22

3
1 cm3 

= 


  2420207
22

3
1 ÷ 7

1375

= 1375
7242020

7
22

3
1 

= 28875
1478400  = 51.2 

 51.2 
Ex.71  3 cm  4 cm 

Sol.   BAC,  A 
BC, A = cm516943 22 

AO, 
BAA' BO 

3cm CAA'  CO 
4cm 

AOB  BAC 
So, B  = B  ( ) 

 BOA = BAC = 90º 
AA – 

O C 

A 

A’

B 5cm 

4cm 3cm 

AOB ~ BAC 
AC
AO  = BC

AB   5
3

4
AO 

 AO = 5
3  × 4 = 5

12 cm 

AB
BO  = BC

AB   3
BO  = 5

3

 BO = 5
33  = 5

9 cm 
CO = BC – BO = 5 – 5

9  = 5
16 cm. 

BAA' 
= 3

1 r2h = 3
1  × 7

22  × (AO)2 × BO 



= 3
1  × 5

9
5

12
5

12
7
22   = 875

9504 cm3 
CAA' = 3

1 r2h 

= 3
1  × 7

22  × (AO)2 × CO 
= 3

1  × 7
22  × 5

12  × 5
12  × 5

16

= 875
16896 cm3 

= 875
9504  + 875

16896  = 875
26400

= 35
1056  = 30 35

6 cm3 
30 35

6 cm3



1.  , 
b  h  - 
(i)  = 2 (b + bh + h) 

(ii)  =  ×  = 
bh

(iii) = 222 hb 

(iv)  = 2 ( + b) h 

2. ‘a’ 
- 

(i)  = 6a2 
(ii)  = a3 
(iii)  = 3 a 

3. 
r  h - 

(i)  = r2 
(ii)  = 2rh 
(iii) = 2r (h + r) 
(iv) = r2h =  × 

4. 
 R  r  - 

(i)  = (R2 – r2) 
(ii) 

= 2 (R + r)  h 
(iii) = 2 (R + r) (R + h – r) 
(iv) = h (R2 – r2) 

5. 
r, h   - 

(i) 2 = r2 + h2 
(ii)  = r  
(iii)  = r2 + r   
(iv)  = 3

1 r2h 
6. r 

(i)  = 4r2

(ii) = 3
4 r3




